
TE621−8A_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0



TE621−8A_2

log ∆L  luminance difference
threshold Lg=63cd/m2
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data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001



TE621−8A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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L=A3+A1 L A2

data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002



TE621−8A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0



TE621−8A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001



TE621−8A_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002



TE621−8A_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.045 0.96 1.402 0.003
0.265 0.731 1.448 0.0



TE621−8A_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.009 1.341 0.279 0.007
0.068 0.996 0.212 0.001



TE621−8A_9

L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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data & P−A3−pc−fit
AD 0,1s A&G
average

A1    A2    A3      ∆
0.034 1.263 0.067 0.011
0.049 1.254 0.06 0.002


